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BACHELOR'S DEGREE PROGRAMME (BDP) 

Term-End Examination 

December, 2017 o 15 8 5 
ELECTIVE COURSE : ECONOMICS 

BECE-016 : ECONOMIC DEVELOPMENT : 
COMPARATIVE ANALYSIS AND 

CONTEMPORARY ISSUES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer the questions as per the instructions given in 
each section. 

SECTION - A 
(Long Answer Questions) 

Attempt any two questions from this section in 
about 500 words each. 2x20=-40 

1. Critically examine Fei - Ranis model of economic 
development. What are its implications for 
balanced growth ? 

2. What do you mean by modern economic 
growth ? Also explain the idea of economic 
development. 

3. Explain China's movement from the "Socialist" 
to the "Socialist Market" economy. Does it have 
any important message for India ? Explain. 

4. The process of Globalization has affected all 
sections and segments of Indian economy. 
Explain. 
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SECTION B 
(Medium Answer Questions) 

Answer any three questions from this section in 
about 250 words each. 	 3x10=30 

5. Discuss Keynesian model of growth. 

6. Explain the vicious circle of poverty and how it 
can be broken. 

7. What is sustainable development ? Is the present 
Indian approach to economic development 
sustainable ? 

8. What role is played by technological progress in 
economic development ? 

9. What do you mean by inclusive growth ? Explain 
the policy ingredients of inclusive growth in India. 

SECTION C 
Answer all the questions from this section in about 
100 words each. 	 3x5=15 

10. Write short notes on any three of the following. 

(a) Decentralization 

(b) Balanced growth strategy 

(c) Socialism 

(d) Cyber dhaaba 

(e) Debt explosion 
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11. Distinguish between any three pairs. 	3x5=15 

(a) Administrative Reforms and Economic 
Reforms 

(b) Public Debt and Private Debt 
(c) Growth for masses and growth for classes 
(d) Globalization and Liberalisation 
(e) Environmental 	degradation 	and 

Environmental pollution 
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